VISTA DA "A”

——106

142

PASSENGER'S FOOTBOARDS A

sGl[€e13] 10057 @

— T

NOTE :

_The KAWASAKI side cases can be installed with the
installation of this silencer.

dB-killers @38
n.52 Cod.308421801

_Before removing the original exhaust system, disconnect the

Allen screw M5x6
.Grower @5

.4 SHORT rubber
tubes

4 SHORT
springs

exhaust valve by the actuation of metal cable, so that this
valve can be definitively removed together with the original
exhaust. The actuator of the exhaust valve must be neither
removed or disconnected.

_Permanently remove the original silent-blocks from their
home in the passenger footrests-and replace them with the
"LeoVince" spacers Aluminium.

2 All. spacer
(for bracket)
Cod.205771

2 CARBON bracket
type "FR3" Cod.308444501
(with rubber sheath)

2 All. spacer
for M6 allen screw)
Cod.205767

N

2 allen screw
M6 x 50

4 All. spacer
Je.29/23 @i.7 h.11
Cod.205871

2 knurled nut M6 H

pipe DX INOX
n.882 Cod.308452203

CALIBRATED CONNECTION
_External dm: 45mm
_Useful depth: 40mm

Pipe SX INOX
n.883 Cod.308452204

,/ CALIBRATED CONNECTION
_External dm: 45mm
/ _Useful depth: 40mm
FIXING POINT FOR NS
ORIGINAL CASE o
N
Fixing plate
M6

KAWASAKT Z 7000 4.e. ('10,°76)
KAWASAKT Z 71000 SX i.e. ('70,°16)

Art. 8453S  Stip—on SBK "FACTORY S” — INOX — Passaggio STANDARD

OMOLOGATO

"EVOLUTION 1717



